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Find the inverse of each relation and state the domain and range of the inverse.

1. {(1:_3)1 (_21 3)1 (51 1): (614)}
\nverse ! { (-2,0) (3,-2) (,9) cw.mz

Domain: 3 -3,1,3,4%
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) 5 (1,-9) ¢8,-6) -2,1) (3,|m}

Domain: { ~#,-2, 3,-'§

Rmﬂe: %—2, 1,5,001 Ro_r\ge'. i—(g\-gl l,kog
Find an equation for the inverse for each of the following relations and state the domain.
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f)=x+3)%, x=>-3& 10, gx)=(x—-6)2+3, x=26 &
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Verify that f and g are inverse functions. £ =
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Verify that f and g are inverse functions.
19. f(x)=—-4x+38, g(x)=—§x+2 20. f(x)z%x—7, glx)=2x+14
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Draw the inverse of each graph, if the function is its own inverse write ‘Own inverse’

21, 22. 23,

OownN  inyerse

m oo
.

LN e
L
N

R

c5432 91234568

A RET S
e ’?/ ol

o

o) E :
ST T T - -
el Lo %
31 W O - N O 0

24. 25 26.

a5

S BN ST
hLd
1

k-



Perform the indicated operation, given the following:

Let f(x)=2x+3, glx)=2x*+1 and h(x) =x—4

AN VEIOE 8. (tfH@= U
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Solve.
33. 2x+4/—-3=5 34, |x—6|—4=36
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